<

Al 2 A (E

00

-

o)

oll

OF
10
00
Rr

()

i0J

KH

=

=< ™4

S

i <]

W

=< o

- 10J

=

KO W

3 )

Ho H0

=

K o

W oy B0 —

T8 m T

L
or UM z 0=
o =< o & M <
“ WG E e B

— o T T T T

270 (Hard Wood)

(1)=TH<

2.1.

+B2 SIERE(LIOIE)ZM IIEB2=2 At

2 SHOIOIOF etCh.

g NFHAX 90

K1

J
~
KI0

-

<0

oll

O

H

OF

Otz off ket =

CHIH Ot

hug

et HE

15%01LH ),

K1

i

ol
Rl
il

ol

RO

K1

Ct.

i0J
Ho

Ok
<
o0

b

I

20 (

M (Wood Plastic Composite)

==}
=

M
S

ol

ALO
o

|.

o 90% Ol

=
-

KS F 32302 JI=22 HEotH, W

= o
[EL I w—

LA DI

NS2Z At

S ATHE

&2 &

F

el 382 HAH HNxL

X

S

ME =0l Jts

Fel

S
=

ol

KIS O0I010F StLt.

—
—

H

[m;

1

3+
uir

ok

Fo

i
ol

oJ
Rr
Ar
&J

XH (Steel)

e

2.3.

rr

io)

J

AL
e

X

Ol 8= A0I010F Gt

180

o)
Kl

-

20

o

o1

o0

o0
falll

O

-
o
-
X

0l
=1
n0

o
H
gl

00
00

0l
0
Rl

0l

—_

iloJ

Ol 8101 0F

CIOIPHAE! (Aluminum alloy for diecastings)

S 7#A2 KSD-2334010H & 2AC-4A, AC-7A &S 0101 OFGHLE

i
o

NS

AHIQI2IA AE (Stainless Steel)

(12

2.5.

040

QAELOIEHS #X

=

F

otod MIA

=
[

t2 KSD-35360il

-
g

glole A

t

Ct.

F

XAN== SHZHN GHEC.

iloJ

00

E A

STS 304

Kf0
Bl
n0

ok

a

o0
my

ol

=
180

ot At

10f
o0

LHelHol DF=elIt

)

=
180

StCt.

EE MHal

Nk
=

EROIl Ot

il

i
3
o
ak
oD
KD



IS2l (Tempered Glass)

(1)KSL-2002 &0l

2.6. &3

I

5
oL
160
ok
<+
K

o

o)

o]
By

o)

puy

(m]

KU
Jn

il

o)

)]
iy

AN

o)

r

o8

(3)selgol &I1,

11z

XH

I+

)l

Ju

-

nO0
H

i
i

wl
Ki

Ju

K
el

nl
KA

0

0l
KA

[0

e 22 £2

b

S
=

tH

(1)JI=CON'C= &AHEY RA0IH,

Mol D& Al MIEAHZ &

KO
H

J

[0
i’
aJ
Rl

R0

0l
IH
Ik
%0
_.u_
Pl

)

H

0ir

5.1.

i0J

00

ol
KU
Ho

o)

io

-
e
o
(@]
<C
o
-
©
(@)
<C
[am
- )
D o
__o._ m
=
=] [}
w0
B
oo
o X
s 0o
H O
<| n
oll H
o3} Ok
x o0
il UH 4
Kol
o —
~ @ ~

TH
® STL / ZBkLtOl

S
—

5.2.

wll

Kl

i0J
ol
K0
H

-

al
ar

ok

=
3l
H
o)
JUJ
W

-

<0

o
|r 18]
__o._ a._
o =
K0 il

_IA
W
=

o
IH o
=l KM
ORI
=
ORI
I
% i
l % 1
Mo U
S e
o ~—
~ @ ~

—_

ioJ

<
3l

00

. 7o)

ol
KM
Ik
O
oF
=

RO
lor

<
ol
LA
o
J
LH

-

<0

0
ol
K0
H

<k
<
I

KO
iy

=

IH



